o

ARZAR— BN RIE

SERRAS

6-6 DEVNBUESIURIESR
aon i DT AR A (Sl

sTERE . ]

(FAL4 A 0 £ 60 4)
122 41,1
3 2 6

5 .2 1
2. 2+ @S-1-
ot 237 1¢

11 2
3 4lx(1lxo?
o < dgx2y

1 %5

1 1, .2
. 5--2-)+5=
6 (3 4) -

£18

7. 1296 +0.6 +9

8. 0.16 x1.2x7.5

9. 3.07+4.13-2.75

10. 1.02+(5.97—4.99)

11. 3.14 x 6.3+3.14 x 3.7

12. 5— +1.72

13. 3.61x —



14. 2.8><1§ 3. %f@ﬁ)’ﬁp\ﬁ};240ﬁé§,gc’ﬁvgkg

oy

.9 o om s
@#’5{—& Rl - AL R d

20T LN

15. GZXI.Z
3

— FEFHRE . ]

(FRE8A > 40 4) 4, THRTREFE LI AL 4 r 2 KhE R A
I 37 ~eaifd gm, ?a [ @wed g igﬁé’g%&j%$ﬁiw32?’
u%zﬁ&ﬁ%,acﬁ+%?iéﬂ R ERTaES L Lo ?
11% X A A AR PR S
PPES 274 & NS ST ] 49
2. 152 E 3122028 s AAZ - 2 T 5. /k4aAF 157 1.99 2 ek b o ] gdeh

S TR AR 2 f T IR 0.45 == > % fgeh 7 1.04 == Gk & 0
3
BTS2 Q

3 KAt e ?

£28



